Решить столбиком                                                                Решить столбиком

9347*7=                                             615*3=                                           312*3=

28453*2=                                            924*5=                                           512*4=

62517*4=                                           4282*6=                                           422*4=

91314*6 =                                          8751*8=                                           631*3= 


232492*9=                                       168400*5=                                            908*5=

18396*7-                                            80690*4=                                           7006*9=

76485*6=                                          36507 *8=                                             4870*6= 

33977*4=                                           40620*5=                                             60500*3=

В учебнике-с.58-№204                                                  В учебнике-с.58-№204
Записать краткую запись и                                     Записать краткую запись и                                           
решение задачи.                                                         решение задачи.      


